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GRIHTd YCld (4 3idh)

3.3572
—9.2512

7.3316
—-3.7426

3.8493
-7.9112

4.7176
-6.294

1.5628
—-8.7681

6.468
—3.9521

3.06061
—9.7205

7.759
—9.506

6.0764
—-3.3127

2.5343
—-4.6235

www.snowmath.com

IESIG

6.4386
—-3.0927

2.8515
—5.4598

THR:

0.1585
—-38.4464

5.202
—9.7243

1.4468
—6.1244

4.7469
-6.0019

0.6845
—5.8896

2.7245
-9.8109

4.1941
—9.9148

4.3965
—7.2551
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SRIATd UeId (4 3{ch)

AH:

5.3359 3.3572
-2.4113 -9.2512
2.9246 -5.894

1.5433 /7.3316
—-4.0288 —-3.7426
—-2.4855 3.589

0.0501 47176
—-8.9186 -6.294
-8.8685 -1.5764

1.1948 6.468
—-4.2654 —3.9521
-3.0706 2.5159

9.1345 3.0661
-8.0762 —-9.7205

1.0583 —-6.6544

8.8493
—-/.9112
0.9381

1.5628
—8.7681
—7.2053

7.759
—9.506
—-1.747

6.0764
—-3.3127
2.7637

2.5343
—4.6235
—-2.0892
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faAi®:

6.4386
—3.0927

3.3459

2.8515
—5.4598

TR

0.1585
—8.4464

—-2.6083

5.202
—9.7243

-8.2879

1.4468
—6.1244

—-4.5223

4.7469
—-6.0019

-4.6776

0.6845
—5.8896

-1.255

2.7245
—-9.8109

—5.2051

4.1941
-9.9148

—7.0864

-5.7207

4.3965
—/.2551

—2.8586
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